
• Betriebsdaten: 
Typlcal operallon: 
Eiemple d'utlllsatton: 

Ut ... 6,3 V 
11 0.2 A 
Ua . +250 V= 
Ug2. 4& 6+20 V= 
Ug3&5. -4 V= 
la .. 0.28 mA 
lg2, 4&6 1,5 mA 
lga •.• 0,09 mA 
lg5 ... 0.03 mA 
Ri . > 5000 kQ 
Ra . 470 kil 
Rk., 680il 

• Grenzdaten: 
Rallngs: / Condltlons mulma: 

Ua .. +300 V= 
Ug2, 4.6+100 V= 
ik . . . 3 mA 
Rfk • . . 20 kil 

1
Rg1 .• 1 Mil 
Rga • . • 3 MQ 
Rgs . . 3 Mil 
Na ... 0,1 W 
Ng2, 4, 6 0,1 W 
Ütk . 100 V 
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Enneode. 

• 1 • 
Unbrauchbar 1 ? 1 G U t ► 
mauvais / Bad • Good / Bon 

0,2 \0,4 

Prftldaten: 
Test operallon: 
Verlllcallon: 

Ut . 6.3 y,.,_ 
Ua . +150 V= 
Ugl 0&-2 V= 
Ug2,4 &6+10 V= 
Uga 0 
Üg5. 0 
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• • In Stellung 13 .0-
auf Stenerwüknng ~ 

prüfen ,,.._ 
In position 13 ls to V"'III 
prove the control ll?ld. 
En position 1! verilier 
l'acllon de commanda de II 

grille. 
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